List of parts
Object | Quantity | Component Notes
1 1 Base plate D
2 1 Head plate
3 2 Flange disc
4 24 Pressure piece
5 1 Sample plate
6 24 Spring retaining
screw
7 24 Disc
8 24 Teflon liner / insert .
9 24 Cap pressure piece
10 2 Guide pin
11 2 DIN 933 - M12 x 60 |Hexagon head
screw
12 24 Feder VD-234B-03 |Fa. Gutekunst
13 24 DIN EN ISO 4028 Hexagon socket C
-M3x4 set screws and
pegs

‘
o ‘.o‘ \ \

Date Name

Drawn 08.03.2017 R. Suren

Controlled

Norm

Reproduction for scientific use only,
commercial use is not permitted. wstte ornersanc ety | Ragctor for 24 reactions 1

Kiel University

Copyright by Ralf Suren. 3

Status Changes Date Name I

6 I 5 I L 4& 3 I 2 I 1



'

18

| 5 3 | | 1
116,45 _ ;
B_'I B-B (1:2)
— 'Qg’\/\b\/f\ & % C
s A a1 fsip
== L/ ° - D
¢ T §
17
150 167 18
184
B —'l C(2:1)
AA (1:2) o< 22 D(2:1)
B28,6 ~| F 6
~ T | —T—_ 11 -
: | /1
oo U
s (142 |
= /\/_J
.
10,2

Reproduction for scientific use only,

commercial use is not permitted.
Copyright by Ralf Suren.

Date

Name

Drawn

20.09.2006

R. Suren

Controlled

Norm

Material: 1.4305

Institute of Inorganic Chemistry
Kiel University

Base plate stainless steel

Status

Changes

Date

Name

3




A A DD D MDD A B
NVANVANVANVANVANY,
MDD DD MDD ‘
= J__ (N N AN ANV AN AN m _ 1 K
~ ) ™ND DD MDD —
ANV ANVANVANVANVANY/ o, C 4=
DD DD DD \y; =
o NVANVANVANVANVANY, o,
= | >
_I s
S L5 B c (1.
19
184
150
A-A (1:2) o
11 — (]
Q | | 15
20

Reproduction for scientific use only,
commercial use is not permitted.

Copyright by Ralf Suren.

Date Name

Drawn

12.06.2007 R. Suren

Controlled

Norm

Material:1.4305

Institu

te of Inorganic Chemistry
Kiel University

Head plate

Status

Changes

)




9
454
LN N
(e N e
oco
+ 1
- o
Q-
IS
N
6
x45
== ——— | Material: Brass
Reproduction for scientific use only,
COmmeI’CIa| use |S nOt perm|tted Institute of Inorganic Chemistry FI H 1
. iel Universit: an e dISC
Copyright by Ralf Suren. fetnersty 9 "
Status Changes Date Name I

i




11,5
10
HEE @249+ 0,05
A B A
LN
i i £~
— 0
0,5x45" S L 3p
H 52,5
N
S 67,5
0,5x45"
—r A-A (1:1)
=S I | _
_
OO
O_N_ 20
OO
+ |
Ln~
o @]
§ Date Name
e —————1Material: Brass

Reproduction for scientific use only,

commercial use is not permitted.

Copyright by Ralf Suren.

Kiel University

Institute of Inorganic Chemistry

Guide pin

Status

Changes

Date

Name

i




A-A (2:1)

215 |
19 + )
|
. |
—_— r.\~ _______ — — —
(@2
- —_— - 0,3)([(-50 21
== Material: Brass
Reproduction for scientific use only,
COmmeI’CIa| use |S nOt permltted Institute of Inorganic Chemistry 1
Copyrlght by Ralf Suren Kiel University Th rust plece

i




13

4

Reproduction for scientific use only,
commercial use is not permitted.
Copyright by Ralf Suren.

11,9

@ =
& s
o~ 2
U
3*05
55
13
15

Date

Name

Drawn

15.10.2007

R. Suren

Controlled!

Material: Brass

Norm

Institute of Inorganic Chemistry

Kiel University

Cap thrust piece

Status

Changes

Date

Name

i




Reproduction for scientific use only,
commercial use is not permitted.
Copyright by Ralf Suren.

17
]
LN
n
M16x1 - 6g /
I Material: 1.4301 ( M10x25 )
ey | Spring retaining screw 1
AL
Status Changes Date Name I

i




B 13,2
{A —'l A-A (1:2)
MY DYDY DYDY D :_
SZNZAN 7N 7NN -
AYAVYAYAYAVYA 1
SZNZNZNZNTNZ RN :
ENYENYZNVENVENZN IS N
SZNZNZN TN 7N -
f“ﬁ\ f“ﬁ\ Fany Fan) ] _
\ \/ \J \J/ U \J Y :
o
<l s 55/ & 2638
o" Q\Q\ ’e ]
= 19 S
(NS
Q
A
mMm
ST E— Material: 1.4305
Reproduction for scientific use only,
commercial use is not permitted. lnstitutngflllr}ofganigChemistry Sample plate 1
Copyright by Ralf Suren. B "

Status

Changes

Date

Name

i




Reproduction for scientific use only,
commercial use is not permitted.
Copyright by Ralf Suren.

Date

Name

Drawn

15.10.2007 R.

Suren

Controlled

Norm

Material: 1.4305

Institute of Inorganic Chemistry

Kiel University

Disc

Status

Changes

Date

Name




247

Reproduction for scientific use only,
commercial use is not permitted.
Copyright by Ralf Suren.

A-A (2:1)

20

Date Name

Drawn 31.01.2006 R. Suren

Controlled

Material: PTFE

Norm

Institute of Inorganic Chemistry

Kiel University

Teflon insert

AL

Status

Changes

Date

Name

N




	24er_Reaktor
	24er_Teflon-Topf
	Druckstück
	Federhalteschraube
	Flanschscheibe
	Führungsbolzen
	Grundplatte Edelstahl
	Kappe Druckstück
	Kopfplatte
	Probenplatte
	Scheibe

